
NITH 352
Quiz #8

1. Consider the following initial—boundary value problem for a’ E [0. 1]:

His —
— U.

Hr(0.t) 0.

(1. t) = 0.

Note. I did not lwinI?e ally initial conditions for this problem as nw are not relevant to this
twobleni. B’ assuming a solution of the form u (i, t ) = a’) T( t) . had all e])arable soltitions
to tins boundary value prohlen.

Ici- V Z(,c)T(k),.
I,T rti-x’Crr

7-

Sot’nday Cdn4+,_$
I
h-fO1E,..- 3

‘4

_____

Case 2Cxzwrr.J.
X=q, ix— (05CM irA)

V

__

T= ccos(Jccj.,¤-)t40s i [
‘“fl_Il tTz C[as(t)+4,,i(s)

iL’4k(C

£ C0cesC) +d0s4(t-1
I


